
MOTORIZED   3×3m/3×4m/4×4m



Plastic

hammer



MOTORIZED   3×3m

3*3-1

Item

Carton

1/5

Carton

2/5

3B-01 3B-12

Qty

4 4

3B-13 4 3B-14 1 3B-15 1

3B-18 1

3B-19 11 3B-20 38

3B-21

3B-22

16

24 3B-23 26

3B-24 1

3B-11 4

3B-02 1 3B-03 1 3B-04 2

3B-05 4 3B-08 2 3B-09 2

3B-31 1

Carton

3/5

Carton

4/5

3B-06 8

3B-06 8

3B-30 1

Item

Qty

Item

Qty

3B-48 19 3B-50 13B-49 18

3B-51 152

3B-29 2

3B-06 3

Carton

5/5



3*3-2

Item

3B-01

Drawings

4

Qty

1

1

2

19

2

2

3B-02

3B-03

3B-04

3B-06

3B-08

3B-09

4

3B-05

+

3B-29

2



Item

Qty

4

43B-11

Drawings

3B-12

3B-13

3B-14

4

1

3B-18

3B-20

1

3B-19

3B-21 16

38+2

11

24+2

Item

Qty

26+2

3B-22

Drawings

3B-23

3B-24 1

3B-15 1

M8*20

OPEN

STOP

CLOSE

3B-30
1

3B-31
1

+
+

M8*20锁紧螺母

3*3-3

19

152+4

18

1

3B-50

3B-51

3B-48

3B-49

M4.2*25



3*3-4

2904

2
9

0
4

2904

2
9

0
4

120 2664 120

1
2

0

2
6

6
4

1
2

0

2

9

0

4

2

9

0

4

  3×3m



Item

Carton

1/6

Carton

2/6

3B-01 3B-12

Qty

4 4

3B-13 4 3B-14 1 3B-15 1

3B-18 1

3B-19 11 3B-20 54

3B-21

3B-22

16

24 3B-23 28

3B-24 1

3B-11 4

3B-02 1 3B-03 1 3B-04 2

3B-05 4 3B-08 2 3B-09 2

3B-31 1

Carton

3/6

Carton

4/6

3B-06 8

3B-06 8

3B-30 1

Item

Qty

Item

Qty

MOTORIZED   3×4m

3*4-1

Carton

6/6

3B-06 3

3B-48 27 3B-50 13B-49 26

3B-51 216

3B-29 2

Carton

5/6

3B-06 8



Item

3B-01

Drawings

4

Qty

1

1

2

27

2

2

3B-02

3B-03

3B-04

3B-06

3B-08

3B-09

4

3B-05

+

3*4-2

3B-29

2



Item

Qty

4

43B-11

Drawings

3B-12

3B-13

3B-14

4

1

3B-18

3B-20

1

3B-19

3B-21 16

54+2

11

Item

Qty

28+2

Drawings

3B-23

3B-24 1

3B-15 1

M8*20

OPEN

STOP

CLOSE

3B-30
1

3B-31
1

28+23B-22

+
+

M8*20锁紧螺母

3*4-3

27

216+4

26

1

3B-50

3B-51

3B-48

3B-49

M4.2*25

M4.2*19

M10*80



3*4-4

3

9

4

4

2

9

0

4

2904

3
9

4
4

2904

3
9

4
4

120 2664 120

1
2

0
3

7
0

4
1

2
0

   3×4m



4*4-1

Item

Carton

1/6

Carton

2/6

3B-01 3B-12

Qty

4 4

3B-13 4 3B-14 1 3B-15 1

3B-18 1

3B-19 11 3B-20 54

3B-21

3B-22

16

24 3B-23 28

3B-24 1

3B-11 4

3B-02 1 3B-03 1

3B-05 4 3B-08 2 3B-09 2

3B-31 1

Carton

3/6

Carton

4/6

3B-06
6

3B-06 6

3B-30 1

Item

Qty

Item

Qty

MOTORIZED   4×4m

Carton

6/6

3B-06 6

3B-48 27 3B-50 13B-49 26

3B-51 216

3B-29 2

Carton

5/6

3B-06 6

3B-04 2

Carton

6/6

3B-06 3



4*4-2

Item

3B-01

Drawings

4

Qty

1

1

2

27

2

2

3B-02

3B-03

3B-04

3B-06

3B-08

3B-09

4

3B-05

+

3B-29

2



4*4-3

Item

Qty

4

43B-11

Drawings

3B-12

3B-13

3B-14

4

1

3B-18

3B-20

1

3B-19

3B-21 16

54+2

11

Item

Qty

28+2

Drawings

3B-23

3B-24 1

3B-15 1

M8*20

OPEN

STOP

CLOSE

3B-30
1

3B-31
1

28+23B-22

+
+

M8*20锁紧螺母

27

216+4

26

1

3B-50

3B-51

3B-48

3B-49

M4.2*25

M4.2*19

M10*80



4*4-4

3944

3
9

4
4

3944

3
9

4
4

120 3704 120

1
2

0

3
7

0
4

1
2

0

3

9

4

4

3

9

4

4

  4×4m



a
3B-01

3B-13

3B-22

3B-01

3B-13

3B-22

b

x4

3B-01

3B-13

3B-22

4

4

24

1



b

3B-04

3B-18

3B-04

3B-04

3B-18
1

2

a

x2

2



3

3B-18

3B-03
1

1

3B-02

3B-18

3B-02

a

b

3B-02
1

3B-02

3B-03



3B-21
16

3B-21

a

4

b



4

8

3B-11

3B-19

3B-11

3B-19

3B-11

3B-19

a

b

5



6

3B-05

3B-29

3B-05

3B-29

3B-29
2

2

3B-05-2

a

b



3B-23

4

x

3B-05

3B-23

b

3B-23

3B-23

3B-23

3B-23

3B-23

3B-23

3B-23

3B-23

3B-23

3B-23

3B-23

3B-23

3B-23

3B-23

3B-23

3B-23

3B-23

3B-23

3B-23

3B-23

3B-05

3B-23

3B-05

3B-05

3B-05

5

6

5

6

7

3*3m-16     4screws/3m side

3*4m-18

 4screws/3m side

 5screws/4m side

4*4m-20  5screws/4m side



3B-12
4

3B-12

a

b

3B-12

3B-24
1

3B-24

8



9

3B-48

X

X

3B-06

X

3B-51

3B-48

a

3B-51

b

3B-06
3B-48



10

x1

3B-49

3B-50

X

X

1

3B-51

3B-50

3B-49

a

b

c

d

3B-49

3B-06

3B-51

3B-51

3B-50



3B-06

11

3B-063B-063B-063B-06

b

a

3B-50

3B-03

X



3B-08

3B-08

3B-08
2

a

12

b

3B-23

c

3B-23
10

3B-23

10 screws: 5 screws / strip



3B-20

3B-09

x

2

3B-20

3B-09

b

13

warning:

Bolts must be tightened

a

3B-20

3B-09



3B-24
1

3B-24

a

b

3B-24

14

Warning

In Snow  / Wind season or in case of

 snow / wind forecast open up your shutters

 in vertical position to avoid any damaging

on your pergola.



3B-14
1

3
3B-19

3B-15
1

+
+

a

3B-14

3B-15

3B-19

3B-15

b

c

15



Motor wires diagram

Wires Diagram

OPEN

STOP

CLOSE

3B-31
1

1
3B-30

Motor wires diagram

Wires Diagram

OPEN

STOP

CLOSE

3B-30

3B-31

16



Motor controller

 Power in：220V

Power Out To

Motor： DC24V

Warning:

Need to drill hole and put

wires by yourself.

Warning:

Need to drill hole and put

wires by yourself.

Motor

17


	3号电动3X3-3X4-4×4米2023.10.3001
	3号电动3X3-3X4-4×4米2023.10.3002
	3号电动3X3-3X4-4×4米2023.10.3003
	3号电动3X3-3X4-4×4米2023.10.3004
	3号电动3X3-3X4-4×4米2023.10.3005
	3号电动3X3-3X4-4×4米2023.10.3006
	3号电动3X3-3X4-4×4米2023.10.3007
	3号电动3X3-3X4-4×4米2023.10.3008
	3号电动3X3-3X4-4×4米2023.10.3009
	3号电动3X3-3X4-4×4米2023.10.3010
	3号电动3X3-3X4-4×4米2023.10.3011
	3号电动3X3-3X4-4×4米2023.10.3012
	3号电动3X3-3X4-4×4米2023.10.3013
	3号电动3X3-3X4-4×4米2023.10.3014
	3号电动3X3-3X4-4×4米2023.10.3015
	3号电动3X3-3X4-4×4米2023.10.3016
	3号电动3X3-3X4-4×4米2023.10.3017
	3号电动3X3-3X4-4×4米2023.10.3018
	3号电动3X3-3X4-4×4米2023.10.3019
	3号电动3X3-3X4-4×4米2023.10.3020
	3号电动3X3-3X4-4×4米2023.10.3021
	3号电动3X3-3X4-4×4米2023.10.3022
	3号电动3X3-3X4-4×4米2023.10.3023
	3号电动3X3-3X4-4×4米2023.10.3024
	3号电动3X3-3X4-4×4米2023.10.3025
	3号电动3X3-3X4-4×4米2023.10.3026
	3号电动3X3-3X4-4×4米2023.10.3027
	3号电动3X3-3X4-4×4米2023.10.3028
	3号电动3X3-3X4-4×4米2023.10.3029
	3号电动3X3-3X4-4×4米2023.10.3030
	3号电动3X3-3X4-4×4米2023.10.3031

